

# **RSA Section 1**

# 2054-RSA-10408-0-1



Event or Exercise	event	New or Amendment	New
Date	4/16/2021 12:37:49 PM	Assisting State	ОН
Event	MN Chauvin Trial		

# **Resource Request**

Requesting State:	MN							
Mission Description:	Law Enforcement Mobile Field Force to protect key state facilities.							
Resource Description:	Two (2) each Type 1, law enforcement mobile field force (MFF) teams, 100 personnel with equipment. Partial offers will be entertained.							
Mission Type/Source:	State Type/Status Law Enforcement							
NIMS Type:	Law Enforcement Operations	- Mobile Field Force - Type 1						
Job Position Qualifications:								
Date to Report for Duty	4/19/2021	Demobilization Date:	5/4/2021					
Working Conditions	Normal - Infrastructure & Sup	port services operational	-					
Comments:								
Living Conditions	Normal - All amenities availab	ole						
Comments:	Assisting state needs to arran	ge lodging - Bloomington has mu	Itiple options.					
Logistics Comments								
Health & Safety Concerns								
	No Safety or Health Concerns	s have been Identified						
	Immunizations or Vaccination	s are suggested to deploy						
X	Environmental Hazards Exist							
X	Personal Protection Equipme	nt Needed						
Safety Concerns & Comments	Possible civil unrest situation							

### Offer of Assistance

# **Tracking Information**

Assisting State Tracking #:	Assisting Agency:	
-----------------------------	-------------------	--

## **Mission Timeframe**

Mission Start Date:	4/19/2021	Date Arrive in Requesting State:	4/20/2021
Demobilization Date:	5/3/2021	Mission End Date:	5/4/2021
Duty Length:	16		

# **Mission & Resource Description**

Mission Description	Support state and local law enforcement activities. Manage large-scale operations to include managing crowds, saturation presence to maintain order and preserve peace, perimeter control, crowd control, specifically at the Minnesota State House.
Resource Description	100 uniform officers including (1) officer-in-charge, (2) Assistant Officers in Charge (Captain), (5) commanders (Staff Lieutenant / Lieutenant), (14) Supervisors (Sergeaent), and (78) troopers. (10) support vehicles including patrol cruisers / support vehicles / 15-passenger vans.  • Ohio State Highway Patrol Troopers will be deputized with full arrest and law enforcement authority by the Minnesota Superintendent of the Bureau of Criminal Apprehension in command of the detail pursuant to authority in Minnesota Statute 299C.03.  • Ohio State Highway Patrol ("OSHP") reserves the right to follow its own operational policies, including Use of Force/Response to Resistance Policy. Minnesota Department of Public Safety ("MDPS") shall identify any areas in which such policy may conflict with law in the relevant jurisdiction and once identified shall communicate any conflict to OSHP who understands that Minnesota statutes must prevail over OSHP policy. Prior to active deployment, MDPS shall provide training to OSHP on relevant local laws and applicable jurisdictional case precedent, including those pertaining to use of force.  • In the event that any legislation, injunction, or other legal order pertaining to use of force, crowd-control tactics, protest response or similar is issued that would apply to OSHP (either directly
	or through the deputizing entity), MDPS shall immediately notify OSHP of the legislation, injunction, or other legal order and provide directly-related guidance and training to OSHP at the same time MDPS communicates with its own members.  • In the event that litigation/legal action is taken against OSHP and/or its Troopers/Employees as a result of assistance to MDPS under this agreement, and whereas officers or employees of a party state rendering aid to another state pursuant to Emergency Management Assistance Compact (Minnesota Statutes 192.89, "EMAC") shall be considered agents of the requesting state for liability and immunity purposes, requests for legal representation and/or indemnification shall be directed to/handled by the Minnesota Attorney General's Office. In addition to providing representation and indemnification as required under EMAC, any costs associated with the defense of such action, including but not limited to travel and expert witnesses, shall be born by MDPS.  • In the event that an OSHP Trooper/employee shall be needed to testify in connection with any subsequent action related to this agreement, all expenses associated therewith, including travel, shall be born by MDPS.
NIMS Type:	Type I
Job Position Qualifications:	
Equipment Requirements	
Equipment Maintenance & Rehabilitation Requirements	
Space and Size Requirements	Staging area to accommodate up to 10 vehicles.

Communications, familiarity with the area, arrest powers (Ohio officers must be deputized by the requesting state), use of force (Ohio use of force policies will be followed by Ohio officers). • Ohio State Highway Patrol Troopers will be deputized with full arrest and law enforcement authority by the Minnesota Superintendent of the Bureau of Criminal Apprehension in command of the detail pursuant to authority in Minnesota Statute 299C.03. • Ohio State Highway Patrol ("OSHP") reserves the right to follow its own operational policies, including Use of Force/Response to Resistance Policy. Minnesota Department of Public Safety ("MDPS") shall identify any areas in which such policy may conflict with law in the relevant jurisdiction and once identified shall communicate any conflict to OSHP who understands that Minnesota statutes must prevail over OSHP policy. Prior to active deployment, MDPS shall provide training to OSHP on relevant local laws and applicable jurisdictional case precedent, including those pertaining to use of force. • In the event that any legislation, injunction, or other legal order pertaining to use of force, crowd-control tactics, protest response or similar is issued that would apply to OSHP (either directly Limiting Factors or through the deputizing entity), MDPS shall immediately notify OSHP of the legislation, injunction, or other legal order and provide directly-related guidance and training to OSHP at the same time MDPS communicates with its own members. • In the event that litigation/legal action is taken against OSHP and/or its Troopers/Employees as a result of assistance to MDPS under this agreement, and whereas officers or employees of a party state rendering aid to another state pursuant to Emergency Management Assistance Compact (Minnesota Statutes 192.89, "EMAC") shall be considered agents of the requesting state for liability and immunity purposes, requests for legal representation and/or indemnification shall be directed to/handled by the Minnesota Attorney General's Office. In addition to providing representation and indemnification as required under EMAC, any costs associated with the defense of such action, including but not limited to travel and expert witnesses, shall be born by MDPS. • In the event that an OSHP Trooper/employee shall be needed to testify in connection with any subsequent action related to this agreement, all expenses associated therewith, including travel, shall be born by MDPS.

# Needed Logistical Support Lodging, meals, fuel (if not available commercially), maps of the area, internet/wi-fi, laundry service. Certification/Licenses Personnel Rotation Requirements None

#### **Total Mission Estimated Costs**

Travel:	\$360,260.80
Personnel:	\$1,274,527.60
Equipment:	\$0.00
Commodities:	\$8,000.00
Other:	\$4,675.00
EST. TOTAL COST:	\$1,647,463.40
Personnel Assigned to Mission:	100

## Travel

Personal Vehicle Costs:	\$9,060.80	Rental Vehicle Costs:	\$26,000.00	Gvt. Vehicle Costs:	\$0.00
Air Travel Costs:	\$0.00	Meals & Tips (Receipt):	\$0.00	Meals & Tips (Per Diem):	\$117,800. 00
Lodging:	\$207,200.00	Parking Fees:	\$200.00	Shipment & Transportation:	\$0.00
Identify any transportat	ion requirements:				

# **Personnel Costs**

	Reg.	Fringe	Reg.	ОТ	OT Fringe	ОТ			
Name / Phone / Email	Salary Hourly Rate	Benefit Hourly Rate	Hours Worked Per Day	Salary Hourly Rate	Benefit Hourly Rate	Hours Worked Per Day	# Days	Total Daily Cost	Total Mission Cos
Officer Major	\$61.5 9	\$37.5 7	6.00	\$92.3 9	\$7.61	6.50	16	\$1,244.96	\$19,919.36
Officer Captain	\$60.6 0	\$36.9 7	6.00	\$90.9 0	\$7.49	6.50	16	\$1,224.96	\$19,599.28
Officer Captain	\$60.6 0	\$36.9 7	6.00	\$90.9 0	\$7.49	6.50	16	\$1,224.96	\$19,599.28
Officer Staff Lieutenant	\$54.9 3	\$33.5 1	6.00	\$82.4 0	\$6.79	6.50	16	\$1,110.38	\$17,766.00
Officer Lieutenant	\$49.9 7	\$30.4 8	6.00	\$74.9 6	\$6.17	6.50	16	\$1,010.05	\$16,160.72
Officer Lieutenant	\$49.9 7	\$30.4 8	6.00	\$74.9 6	\$6.17	6.50	16	\$1,010.05	\$16,160.72
Officer Lieutenant	\$49.9 7	\$30.4 8	6.00	\$74.9 6	\$6.17	6.50	16	\$1,010.05	\$16,160.72
Officer Lieutenant	\$49.9 7	\$30.4 8	6.00	\$74.9 6	\$6.17	6.50	16	\$1,010.05	\$16,160.72
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28

Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Sergeant	\$42.9 7	\$26.2 1	6.00	\$66.0 6	\$5.44	6.50	16	\$879.83	\$14,077.28
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96

Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96

Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96

Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96

Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96
Officer Trooper	\$36.5 4	\$22.2 9	6.00	\$56.4 2	\$4.65	6.50	16	\$749.94	\$11,998.96

#### **Commodity Costs**

	ID	Commodity Description	Cost Per Item	Quantity	Total Costs
Γ	12277	Less lethal Munitions	\$20.00	200	\$4,000.00
	12278	Misc. Uniforms, Supplies and Equipment	\$100.00	40	\$4,000.00

#### **Equipment Costs**

ID	Equipment Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost	
----	-----------------------	------------------	-----	-----------------	-----	-------------------	------------	--

#### No Costs

#### Other Costs

ID	Other Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost
11330	Laundry services for uniforms	\$0.00	0	\$2.50	10 5	14	\$3,675.00
11331	Tolls	\$100.00	10	\$0.00	0	0	\$1,000.00

The EMAC Authorized Signature below certifies that information contained herein accurately represents to the best of their knowledge, the offer of assistance at this time

Name of EMAC Authorized Representative:

Sima Merick

Signature of EMAC Authorized Representative:

Date:

117.21



# **RSA Section 2**

### 2054-RSA-10408-0-2



Event or Exercise	event	New or Amendment	New	
Date	4/16/2021 12:37:49 PM	Assisting State	ОН	
Event	MN Chauvin Trial			

#### Mission

Mission Description:	Law Enforcement Mobile Field Force to protect key state facilities.
Resource Description:	Two (2) each Type 1, law enforcement mobile field force (MFF) teams, 100 personnel with equipment. Partial offers will be entertained.

#### **Mission Timeframe**

Mission Start Date:	4/19/2021	Date Arrive in Requesting State:	4/20/2021
Demobilization Date:	5/3/2021	Mission End Date:	5/4/2021
Duty Length:	16		

#### **Cost Estimate**

Total Cost Estimate:

\$1,647,463.40

The Requesting EMAC Authorized Representative certifies the review and acceptance of the offer of assistance contained in RSA Section 1 for the above referenced mission.

Name of EMAC Authorized Representative:

Signature of EMAC Authorized Representative:

Date: 411713921